Whitman College

Econ 358

Exam 1

September 26, 2005

Write all answers in your blue book. Show all of your work.  The exam ends at 2:20.

1. (10pts) Describe the four functions of financial markets discussed in class.

 

2. (a)  (5pts) Define a balance sheet.

(b) (5pts) Provide an example of a balance sheet, using accounting data for a hypothetical company whose net worth is $200,000. 

3. Theories of savings often claim that if the interest rate rises while everything else stays constant, then savers will wish to lend more. Consider the validity of this claim in Fisher's simple savings model.

(a) (10pts) Draw a budget line and set of indifference curves for a person who wishes to lend at the current market interest rate, r. Indicate on your graph how much this person wishes to lend. 

(b) (10pts) On your graph from part (a), show the new budget line the individual faces when the interest rate rises to r*. Indicate on your graph how much this person wishes to lend now. 

(c) (10pts) Is it necessarily true that every saver will wish to lend more as the interest rate rises? Explain, with reference to Fisher's simple savings model. You might need to use another graph of indifference curves and budget lines to make your point.

4. (10pts) Consider an annuity, which is a constant stream of regular payouts B starting next period and ending at period T. Derive the formula for the annuity factor, which gives the present value of an annuity of one dollar when the interest rate is r. Show and thoroughly explain all of your work. 


5.  Suppose that you owe $240,000 on a mortgage with 28 years of annual payments remaining.  The next payment is due one year from now.  Your mortgage is at an annual interest rate of 5.6%.  

(10pts)  What exactly is your annual payment?

(10pts)  A friend of yours can only afford an annual payment of $12,200.  What is the highest house price your friend can afford if she gets a 30-year mortgage at an annual interest rate of 5.6%, and makes annual payments that start one year from now?

6. (20pts) Suppose the market interest rate is r=0.08. Consider an investment project with costs of $100 now and $2000 twenty years from now. The project provides benefits of $50 per year starting six years from now and continuing for twenty-five years, so that the last benefit is achieved thirty years from now. Calculate the net present value of this project. Should the project be undertaken?

